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BT () £ HEH| 5 S B BT ()% ek 5 =z i BT (X) £ HEHR| B X it BT (X) £ e 5 = B BT (X) £ HEHR| 5B X it
ZHET 48 56 60 116| 7K S HET 199 254 245 499| R BT 1 X 299 351 371 722| = HET 75 103 110 213|RE 89 116 125 241
th ] 25 33 35 68|IRESHT 280 361 330 691|ELET2 X 316 391 400 791|SEBAET 54 62 67 129| R SHET 53 65 77 142
A 39 43 47 90| L& HHET 96 135 158 293| RET3X 52 41 54 95 | ¥5 TUETRT 33 51 51 102| 75 7R ET 38 62 61 123
TEHET 89 92 102 194|425k ET 23 42 33 75|dt %= EHHET 645 937 954 1,891 |fRIEFHT 25 32 45 77| iR 2 BT 14 23 26 49
FaERHET 97 107 122 229| & HAT 33 36 50 86| T AHT 83 134 17 251 [¥8TUET 100 113 108 221| £ B HEET 16 18 22 40
REHr 59 53 55 108| & SHT 52 64 66 130 [ Fr#A BT 92 126 134 260(-EATET 265 346 369 715| & HET 39 49 61 110
B FEET 299 373 381 754|123 ET 254 309 271 586|#H—T B 85 104 114 218|287 65 75 70 145 | ZF{RET 60 77 81 158
J\BTHET 12 12 17 29(r9y = HET 99 137 142 279|# W =T H 106 113 138 251 |rh B2HT 112 118 115 233| H HET 34 60 61 121
P9 B BT 20 23 38 61(7KZHET 78 97 100 197|#E=TH 100 91 132 223 | fEALET 524 634 590  1,224|%BHET 70 81 101 182
A RET 27 31 38 69 | f2ERHET 14 26 19 45|EHMT B 163 201 230 431| RS HET 67 86 104 190| & tE B T 21 28 50 78
R—&HT 34 33 31 64| R)IIHRE 419 486 406 892|# WA TH 81 105 103 208 [FriEA X 164 182 200 382|[@ &HET 37 53 60 113
R_EHE 90 98 94 192|128 ®E—TH 222 269 271 540| K5 X 116 120 25 145|RIBMX 132 169 152 321 | ARHET 50 75 73 148
H=RAET 23 24 28 52|f2 AKX 78 107 109 216|¥—THE 227 292 328 620| B MR 166 208 212 420|lLEE—TH 65 74 89 163
BI\YERER 480 535 592 1,127(6) X 5 1,847| 2323| 2206 4529(HK=TH 228 269 286 555|185 METR X 76 103 96 199|ILEE=TH 94 113 123 236
[iPANES =S 121 130 140 270| FHAEFET 88 127 114 241 |FR=TH 195 255 264 519| = ST 191 215 220 435|ILEB=TH 101 126 127 253
[:IAVES =S 347 422 441 863 |t B+ EFHET 65 94 91 185([#H AT B 186 293 277 570| FEE—TH 73 95 84 179(ILBEMWTHE 111 119 117 236
I\ R ERHET 221 219 215 434/ EHT 21 33 30 63| —TH 156 170 189 Y FEEAS=-TH 141 171 199 370|ILBAERETH 87 133 126 259
HrEET 511 659 670 1,329| L 1A EFET 64 81 76 157/ =—TH 242 326 351 677|< EHT 103 152 119 21| ILEBARTH 115 150 153 303
FRET 20 20 18 38| FRAH R HT 70 87 83 1704t AR AT 95 110 124 234|FDE—TH 74 107 104 21| 8K 5t 1,004 1,422 1533 2,955
=odi 15 18 15 33(BHFMX § 308 422 394 816|dtZEAE —TH 132 183 223 406| KDEZTH 121 209 193 402| FHREER—TH 148 166 179 345
ERAITX 20 19 24 43| R 3L ET 94 109 134 243 ZEBEB =TH 185 252 311 563|DIE=TH 105 147 142 289| FHREFER_TH 102 136 112 248
SRETHT 17 21 32 53 (¥R ZAHT 182 222 207 429/t RHBR 83 124 133 257|ChERHIX 5t 2666| 3378 3350 6728/ FHREBHRE=TH 150 170 177 347
HERT 109 17 105 222| % RAAT 210 235 275 510|HBIiX 5t 3867 4988| 5258 10,246(FFAET 203 263 252 515| FRERDTH 168 202 202 404
FHAHET 450 588 587 1,175 (L SET 73 84 11 195 [{E S BT 221 262 288 550 — QO @T 56 78 79 157 FRERETHE 147 186 169 355
R 107 86 130 216 | BT 3RFE SET 15 25 17 42| /AKX 107 143 142 28545 FHT 92 115 124 239| FHREFERATH 166 199 226 425
A2 189 234 246 480 | K SLHT 27 42 38 80| #HJIIR 53 67 78 145 | AEHET 221 314 336 650| FREFE—TH 128 167 151 318
LRI 64 47 75 122|dLERMX 69 55 76 131 FEARIX 54 80 85 165|3 H.ET 33 56 56 12| FREB -_TH 141 178 182 360
R4 194 269 262 531 | % ME#HH—TH 141 179 180 359|481 37 ET 105 140 148 288| Z ALET 84 108 121 29| FHREB=TH 143 185 192 377
Pl i:b <1~ 390 470 497 967 | EREMIX 5t 811 951| 1,038 1,989 | #1 F#THET 21 33 39 72 | R HET 151 166 177 343 FHREBET B 100 115 136 251
tHER6X 200 232 217 449 | = {RET 126 152 177 329|fEFHEHIX 5§ 561 725 780 1,505 | & ;R ET 57 87 91 178| FREBRTH 136 146 151 297
AEXBE-TH 156 171 183 354| AR 8 7 14 21| = KHET 532 710 644|  1,354|HHhET 24 40 45 85| FHREABATH 143 170 182 352
HEE2—TH 87 104 105 209 | EHAX 12 15 16 31| =k T 497 604 589 1,193|#FF—THE 93 116 109 225 FHREBETH 172 210 242 452
E=E_TH 103 103 129 232| BHK 9 11 12 23 |{EHEET 48 76 75 151|AFF=TBE 55 75 73 148 FREBE/NTE 122 134 149 283
EE=TH 101 120 138 258 ;& {LET 40 50 63 13| &K HET 75 84 107 191|AFFEF=TE 74 95 100 195|FREBm—TE 112 146 146 292
Am—TH 113 120 127 247|CERET 28 34 30 64| T IRET 47 53 61 1M14|AFFWTE 101 125 122 247\ FREM_TH 147 190 192 382
HH=TH 125 152 190 342|/\ 1| BT 42 48 65 113|/\E AT 54 73 70 143|#FFRTH 70 94 90 184| FHREFHIX 5t | 2225 2,700| 2,788 5,488
Hi5—TH 68 83 84 167| £ 7MIET 41 45 60 105(/\ FERET 132 159 174 333|A#FIFATH 69 71 82 153 | +aET 17 131 142 273
EBE-TH 137 198 169 367| 2T 31 34 48 82| —IFHT 68 77 79 156|#K—TH 99 139 126 265 | A ET 102 109 114 223
#E—TH 137 140 145 285| = {RHTET 104 138 134 272 | & ERET 164 187 216 403|BEK—TH 61 74 80 154 | FaE ET 98 124 119 243
ZXEZ-TH 107 136 140 276| B4R 91 109 112 221 |HEXRTHX 396 514 492 1,006 | MACPiX 5t 1543| 2,016| 2063 4079|FE#H—TH 104 124 121 245
KIE—TH 157 157 201 358| = [RET 70 96 83 179|h BRI 210 265 247 512|185 HT 447 563 519 1,082|wH=TH 78 80 92 172
KRKIE=TH 98 104 90 194| SRMX 5 602 739 814 1,553 |# A& X 106 130 121 251 | HEET 142 175 170 345|FM=TH 68 76 86 162
#H—TH 54 65 65 130| = ALET 153 212 227 439(—1F#FHEX 233 289 244 533| 12 FHET 340 417 388 805 | 3R EFET 62 81 72 153
B35 -TH 70 74 76 150K 7k BT 79 114 110 224|HEVEHE—TH 77 91 104 195| E Fr BT 367 531 500| 1,031|3=REFHET 98 120 107 227
B5%5=TH 26 35 36 T1(EX 123 154 179 333|HIVEHE_TH 126 152 169 321 | BIX 5t 1,296| 1,686| 1,577| 3,263|FEEREAT 82 90 97 187
BEX—TH 127 165 184 349| R HE—TH 119 82 127 209|HEVEHE=TH 78 98 104 202 BmERHE—TH 67 77 79 156
BHR=TH 25 15 20 3B|HHAR_TH 68 77 80 157|HSVESEMET B 126 166 151 317 EERX 77 83 85 168
BXRATE 100 107 141 248| KK FX 94 130 127 257(EEET B 0 0 0 0 NEEHMX 5t 953| 1,095 1,114 2,209
BXATH 66 80 93 173|FFHILX 133 172 167 339|/\E#H X 82 116 118 234
BXtTHE 114 135 151 286 | R HHPHX 60 74 84 158 [BHIX 5t 3051 3844| 3765 7,609 NG 28,642| 35589| 36,526| 72,115
BRINTE 152 205 210 415| M FAEMX 50 69 55 124
BEXATH 1 1 4 5|F HmX 214 274 297 571
B2X+TH 30 30 14 4| =KX F 1,093 1,358| 1,453 2811
#HAR—TH 27 28 29 57
HAZTH 92 138 134 272
HAR=TH 135 212 221 433
MEX  § 6,725 7,942 8393| 16,335
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BT () £ HEH| 5 S B BT ()% ek 5 = i BT (X) £ HEHR| B £ it BT (X) £ e 5 S B BT (X) £ HEHR| 5B ES it

EINE:k 33 38 39 77 () \WEET 142 173 203 376 |3 R ET 129 164 170 334 A NET HE 45 50 69 119 | [ BAET 47 57 69 126
%)IIFRTR 150 198 221 419| == HT 50 70 68 138 |FE iRk R ET 232 232 259 491 |3 RBTLE 30 30 38 68| FAAREFET 22 34 35 69
EJN L) 32 45 44 89| EILIET 211 261 297 558 |&;AFET 300 438 438 876 NET 1R 105 125 148 273|773— /LB 32 47 43 90
ZE)IIhETR 122 141 163 304| 1 BHT 53 70 74 144|B8%—TH 126 163 147 S10[AINETEYDE 54 66 68 1345 & BT 56 73 81 154
EJNEd i) 31 37 41 78 (R B LLET 51 77 69 146 |8 EF HET 4 61 60 121 ;AT NET S LA R 57 67 66 133| & [RAT 45 42 39 81
EJN B 39 38 47 85| — /=SHIX &t 507 651 711 1,362 | @A FET 38 66 61 127 ;AT NET O E B 16 23 22 45| T EFET 42 70 69 139
EJNE ) 45 50 45 95 (#RK S HT 89 84 84 168 | 2 HET 95 141 159 300 [AINET P EE 3 3 5 8| L EFHT 105 150 160 310
E)IIFETR 38 38 48 86 | #5 KR HT 89 120 124 244|Fi BET 236 328 352 680 3a] PAETELith 5 3 6 9| =R ET 31 37 41 78
EIK R ETTR 46 52 48 100|#8EABT—T B 32 38 42 80|BAXIETH 229 291 310 601 ;AT NET AR 20 22 38 60| FHH& 20 18 28 46
FE)IIKAETER 27 26 32 58|85 RABT—TH 33 33 42 T5(BBX=TH 108 129 128 257 |;RIETIR £ 9 8 11 19| EHE 22 28 29 57
EJNE i) 35 24 47 T|ERART=TH 40 54 71 125|505 3 HT 215 303 317 620 | NETHR 2 16 17 15 32| B =BT 57 65 79 144
EISHR 148 179 212 391 |E5RABTM T B 204 242 253 495\ 5 & HT 173 231 240 471 [FAIRBT £/ 6 6 3 9|5l & AT 15 22 21 43
%I #=ERT G 45 38 53 o1 (#&kE A ET 168 178 207 385|5HE—TH 97 165 158 323 | NET T HT 4 3 1 EZ 3 44 46 38 84
EINE:ES: 70 92 90 182|#&E FIRET 105 109 120 29|l NE-TH 70 94 98 192|AINET N E 18 16 18 34| T EFIKET 27 25 30 55
EJNIPE g 90 100 110 210|853k L 3RHAT 33 34 38 72| EAERET 110 149 156 305 NETH R E 19 21 22 433 EHET 12 15 17 32
E)IEATR 105 130 129 259 |E5K T BRHAT 27 32 37 69 | ZAEF AT 80 93 96 189’ IAMhIE &t 407 460 530 990| & FEET 14 10 11 21
EJNEN:IFi) 37 37 49 86|#BRHEE 36 49 45 94| &8 A E BT 113 131 17 248| TEHF 68 83 89 172| =V #E8T 4 4 3 7
EJIEIN:IES 82 78 85 163 |E& R &N=F AT 17 200 222 422| ESFHET 342 418 427 845| L HE 95 87 108 195 | $UAE AT 3 3 1 4
)11 F0;RETEE 194 264 270 534 |E8 K BT 84 91 114 205| &R A E BT 35 42 36 78| R E DER 56 74 72 146 | o] BT 6 3 6 9
EJNEakaE 254 253 306 559 [#8RK P HT 31 34 37 M 5t 2,769 3639| 3729 7.368[{ER 21 28 30 58| E+AHET 0 0 0 0
=X 5t 1,623| 1,858| 2079 3,937 |#&k X EET 195 235 233 468 | A R AT 182 258 276 534| KF9E 11 2 9 11 (40 R BT 2 2 0 2
REAT 311 406 429 835|E8 3k K E FaHT 127 196 198 394+ CIAT 145 174 212 386 |#EiK 31 22 31 53| E5 AT 0 0 0 0
FHRHT 284 325 341 666 [#5SRKFET—TH 10 9 13 22| K¥rET 76 97 91 188|HE 38 43 45 88 |+H;E AT 22 28 45 73
HEET 43 59 61 120|#83RKFET=TH 65 80 92 172 |BH:E SHT 21 26 31 57| FKi& 18 22 28 50|25 7KAT 43 48 56 104
RIEAT 52 81 72 153|#BR/K FRTM T B 31 35 34 69|4THT 75 116 124 240| L K& 25 25 27 52| T & AT 62 75 88 163
FEKSEET 146 203 200 403| %5k A HHET 31 42 43 85|/ 4ERET 44 59 72 131 | RiBH 10 11 12 23| L EAHET 38 52 56 108
e S HT 284 356 362 TI8|ESRIIX 5t 1,601 1,895 2049| 3944|RFEFHAT 60 74 75 149|hE 39 36 39 75 |6 {k RET 31 38 45 83
Fepiulig 72 92 97 189| A 45HT 234 310 332 642|t[FRET 48 59 65 124| SHSMIK 5t 412 433 490 923| =Y R EFHET 57 68 94 162
Byl 254 305 323 628 |/IMINET 205 238 262 500 [ 4e A HT 24 31 31 62 SR LT 48 58 66 124
HEHAT 321 409 447 856|BAL=TH 166 221 199 420| B A e 329 401 418 819 LB B ET 5 5 6 11
e S AT 12 10 16 26 |/MINETET 102 100 140 240| £ IRFTET 177 194 226 420 TATHEE 22 29 25 54
ESFH 132 207 196 403| B FHT 268 357 384 741 |#BRZ SHT 201 242 256 498 Stutbts 5t 934| 1,152| 1,281 2,433
BESFR 123 183 210 393|BASHETIL/E 45 55 58 13| REEHTET 156 197 203 400 =5 49 52 54 106
ESFH 122 193 186 379|BABETE /K 25 30 35 65|/ $ERETET 1 17 16 33 i 3 1 3 4
IREIX  § 2,156 2,829 2,940| 5,769|BA BEThAT 46 72 67 139| 3 O #r AT 57 86 91 177 R 88 73 92 165
EET1R 58 68 62 130|BA S BT TG /1 44 51 56 107 | SR T 169 232 231 463 ZE 32 20 40 60
EET2X 47 48 65 13| &/ RFTHET 38 56 57 13| SEXEMIX 5F 1,775 2,263 2418 4681 #w=-QO 18 15 15 30
i pe] =3 44 46 61 107 |BFH S & HT 84 122 124 246 ) 7 7 3 10
EETAX 55 54 67 121| EFR S8T 51 65 68 133|EBKithiE & 8,994 11.466( 11,986| 23452 Bra 1 1 1 2
EET5X 131 178 181 359| FFRSHT 111 148 142 290 HMPREX 25 34 33 67
EET6RX 148 151 175 326| B A HET 171 233 226 459 EOibiE 5t 223| 203 241 444
EE7R 36 49 47 96 |HHFSAHET 236 284 275 559 Big 242 283 299 582
EETSX 88 87 97 184 | R SHT 271 339 323 662 B3 76 74 74 148
EETOX 116 111 120 231|dtFx SHET 145 170 182 352 THE 0 0 0 0
EET10K 241 277 322 599 |78 7 S BT 46 67 64 131 Bigtthis; 5 318| 357 373 730
EET11X 0 0 0 0| SHT 54 100 85 185

EET12K 169 269 254 523|/ &R & 2342 3018 3079 6,097

EMX 5t 1,133 1,338 1,451 2,789 & 5 44,842| 55,685| 57,897| 113582
Z) It 5t 4912 6,025 6,470| 12,495




